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s =2 20124 1XtE3F 2012 Off AF M SN <4t (2013) ot = 20128 1XtFZ 20124 of &4 S T4 HI(20134)
28+ 1,555,713 1,555,713 - 96.26%| EHOHHI 2 22(H] 1,522,486 1,623,812 (- 101,326 94.21%
HE=e 1,555,390 1,555,390 - 96.24% Q24| 805,204 906,530 |- 101,326 49.82%
At el =2 323 323 - 0.02% el 23l 717,282 717,282 - 44.38%
2xs+¢Y 1 1 - 0.00%| AtLAHIEXZ 1 1 - 0.00%
SnExE3+Y 1 1 - 0.00% g&a 1 1 - 0.00%
NRHMEES - - - 0.00%| FSXtatel X=E 47 47 - 0.00%
2SAet=g 20 20 - 0.00% 2SI = 47 47 - 0.00%
sSAaA3 20 20 - 0.00% 2 Xtatel X=E 12,012 12,012 - 0.74%
DT oY 18 18 - 0.00% SRR = 4 4 - 0.00%
S Aok 4 4 - 0.00% =S XA X Z| 12,005 12,005 - 0.74%
SE A2 = 7 7 - 0.00% SETLHFSHI 3 3 - 0.00%
SETA 2+ 4 4 - 0.00% oilg1gl 16,542 16,542 - 1.02%
RSREMHLS 3 3 - 0.00% oilgIgl 16,542 16,542 - 1.02%
lE=sgd3 1 1 - 0.00%| FS2M XNE 1 1 - 0.00%
E0|23 1 1 - 0.00% RSEME 1 1 - 0.00%
dII01E X3 60,339 108,455 (- 48,116 3.73% LEEMe XNE 2 2 - 0.00%
SII01E X2 60,339 108,455 (- 48,116 3.73% DLW E 2 2 - 0.00%
lz3eteEX s 1 1 - 0.00%
Jleatre 1 1 - 0.00%
a7 2 X 3 5 A 65,000 11,790 53,210 4.02%

T 3 & o 35 2 1,616,092 1,664,208 (- 48,116 T 3 N &8 5 A 1,616,092 1,664,208 (- 48,116
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201238 HE & SIS (HANBAHUE LoIQ2AR) I1X=E WALA
Es2(ZI(RI3J1) : 2012. 3. 1 ~ 2013. 2. 287tXKl) (o9 : &9
= &t = 1R S=Z 0 AHA) 2 0llAHB) S2 M (A-B) s £ = A
ZHOHBI2F 22l bl 1,520,886 1,623,711 |- 102,825
jelals]l 805,204 906,530 |- 101,326
iRl Palsl| 1 1 - |HsEX2
o NAIAHHl : 42H x 1,520,000 x 1274 &=766,080,000&
XI0o|H _ , f
ESERel Pals]l 696,080 766,080 70,000 (17=2 70. OOO@SJ 2to)
HAa0I3 1 1 - | AsEXS
gE&3 18,240 18,240 - |+ E&32 : 12¥ x 1,520,000 =18,240,000&
- EIXEE2 0 30¥ x1,520,000&=45,600,000&
=ecra _ , , B
Tee 90,882 122,208 31,326 « AUIEEZ : 76,608,0008 H : 122,208,000% (1Xt=Z 31,326,000& 2H)
Zte| 29| 715,682 717,181 |- 1,499
=sc|=4d| 12,000 12,000 — |+ 1,000,000& x 1274 &=12,000,000&
elA - AxtE 1 1 - |ASEX2
N32=10 200 200 — |+ 9IXIAM ¥ JlEtESZ2 ¢ 200,000
Sl 240 240 - |- 2082g3a FRAN L3HIE 20,0003 x 1204 &=240,000&
A 2H| 1 1 - |ASEX2
« =EQ232 800,000 x 12IH&=9,600,000&
AC DS _ , , ,
+=2 2| 87,600 87.600 « ®MIILZ2 : 6,500,000& x 1271 &=78,000,000&
g8 a 5,000 5,000 - | QYA UIAMABHZ 5,000,000
O Hl W SHl 2,400 2,400 — [+ 200,000€ x 1224 &=2,400,000&
« 200,000 x 12J0&=2,400,000& (%= |KF4I ozagig)
PN E=2=INIsll 3,000 3,000 — |+ 150,000& x 43|=600,000& (Xt =2|, HAI S VHRXLIK) Al
3.000.000&
c 24 JIMAH Pl ¢ 34,000@ x81Y x 12J4 &=33,048,000&
A223H| 43,048 43,048 - |+ AIRE ¢ FHA S 3—.’% A2 ZHIE : 10,000,000 A
43,048,000
Ol M HI 1 1 - [&EXIZ : 1,000




XE&S(eII(M31) = 2012. 3. 1 ~ 2013. 2. 287tXl) (&t @ &)
= i = 1R 0l &H(A) = Ol&k(B) S22 H(A-B) &t £ = A
- /2 QFANF MEUIE : 125,0008
NS48 10,125 10,125 - |+ =URg3 HSZHS22 10,000,000 A
10.125.0002!
CIES:] 1 1 - |H8EXS
=3 1 1 - |H8EXS
etz 1 1 - |H8EXS
¢ QU YAT MARZ : 3,600,000
S AHI 4,600 4,600 - e QYR N 3FE JIG#AL 1,000,000 A
4.600.0002
JUE=Enellel] 3,600 3,600 - |- Z20% L ASMEH : 300,000 x 122 2=3,600,000¢
EEPEL] 5,000 5,000 - |- 83X € : 5,000,002
3ol 6,000 6,000 - |+ 1,500,000 x 43]=6,000,0002
- Qe AL 9 Zdl : 4,500,0008
=24l 9,500 9,500 - |- 228 S2AHM : 5,000,000 A
9.500.0002!
* 7,000, 000F (S S & a0l X 1ZJAZ=90,000,000H
< BXHO, Bl S 2B YANBXEE $2idl ¢ 8104 x30,000&=2,430,000&
AN _ ’ i , ,
+dRAY| 102,430 102,430 « QU FHIAF ¢ 10,000,000 A
100 420 _00N2I
i o g=lall 2,000 2,000 - |- NE 2E NSRRI S JIERSSMIY ¢ 2,000,000
o AITH & 2bAlH] ¢ 11,0002 x 812 x 312 x 1201 &=331,452,000&
JlErZel2 gl 418,933 420,432 |- 1,499 |- SlofE el U TEH ¢ 812 x 15,0002 x 12JH&=14,580,0002
+ J|EI 22| S HH| © 74,400.00021 3 : 420.432,000% - 1XtFEA 1.499.000&
AL IHI S XIS 1 1 -
& 1 1 -
e 1 1 - |H8EXS
FSANe XIE 48 48 -
FSAMXE 48 48 -
KIS 1 1 - |A8EXS
da2skE 1 1 - |UsEXS

SN0 45 45 - |+ &S 2A : 45,0002




XNEES(SII(MIII) : 2012. 3. 1 ~ 2013. 2. 287tX)
2 & =2 1R 0 AHA) 2 0ll&H(B) S22+ (A-B) & = 2 H
JIEtR SR & 1 1 - |&X2 : 1,000&
MESPNFSIERNE 12,012 12,012 -
SRFRHAR S 4 4 -
=PI =LY 1 1 - |w==xz
SEAFIISHMS N 1 1 - (H=EX3
B2E3XE 1 1 - |AH=SEXS
JIELS] S XHAHAK = 1 1 - (n=EX3
SE AL XIE 12,005 12,005 -
DI H & XI 00 CH 1,000 1,000 - |- 2cxXg4 J1H7L : 1,000,000&
- QUR AU YL FHE(AME, 02 S)FLHl : 5,000,000
EOIHIZ 0 10,000 10,000 - |+ 2IEF E2IHI&+LHl : 5,000,000&
10.000.000&
=20 1,000 1,000 -
EXI0H I CH 1 1 - | HSEXS
A& =0l KA CTH 1 1 - |H=sEX2
ASS0HLH 1 1 - | AHSEXS
T2 A0H 1 1 - |ASEXS
JIEFS] S& XHAHOH L CH 1 1 - (H=EXS
SE T S| 3 3 -
K& THAHH OH & CH 1 1 - |ASEXS
L HIXI = 1 1 - |ASEXS
JIELS] RE XK= 1 1 - |A=EXS




ANESS(LII(M3I1) = 2012, 3. 1 ~ 2013. 2. 28DtXl) HA)
= s 1REEZ 0l AH(A) 2 Gl&H(B) E2 U (A-B) & ) 2
oll 1 16,642 16,642 - |1e642
ol bl 16,642 16,642 -
oll il 16,642 16,642 - |- oigigI1%
RELM XN 1 1 -
SSEWNE 1 1 -
JIEIS SSRUNE 1 1 - |H==x3
DLW NS 2 2 -
DHEMA 2 2 -
EXZ0EL2N2 1 1 - |H==x3
JIEtSl DHSHAE 1 1 - |H==x3
DIE=E=1E S 1,500 1 1,499
pILE=LTE! 1,500 1 1,499
zo|=3ere 1,500 1 1,499 |+ 1% 1,499,0008 Z o4,
g 1 ® 22 N B = 3 1,551,092 1,652,418 |- 101,326
a1 ¢ R 2 = A 65,000 11,790 53,210 |+ XDI0IFXZ GI&X 53,210,0008
X 2 XN & = 3 1,616,002 1,664,208 |- 48,116




